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1. There are 35 Multiple Choice Questions in this booklet having 4 options out of which
ONLY ONE is correct.

1 Mark will be allotted for each correct answer.
All questions are compulsory. There is NO negative marking for incorrect answers.

Total time allotted to complete the paper is 60 minutes.
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Bloom English Olympiad Class 1

1.

Find the noun in the following sentence.
The best phase of life is childhood.

(a) The (b) best (c)is (d) childhood
2. Which of the following is a verb?

(a) Hospital (b) Simple (c) Catch (d) Greatly
3. Fill in the blanks using articles.

Sita’s brother is engineer in reputed company.

(a) a, an (b) an, a (c) a, the (d) the, the
4. Find the preposition in the following sentence.

The train will reach the station by 11:30 a.m.

(a) by (b) The (c) will (d) reach
5. What do you say when you have to make a request?

(a) Nice (b) Sorry (c) Please (d) Thank you
6. Find the plural of the underlined words in the sentence.

| saw a fire engine rushing towards the building.

(a) Engine, Buildings (b) Engines, Building

(c) Engines, Buildings (d) Engins, Buildings
7. Rearrange the following jumbled letters to make a meaningful word.

ELNGCTE

(a) GENLECT (b) NEGLECT

(c) CEGLENT (d) NECGLET
8. Find the odd one out.

(a) Bat (b) Ball

(c) Stump (d) Hospital
9. What is a group of kittens called?

(a) Pack (b) Litter (c) Flock (d) Fleet
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10.

Fill in the blanks with an appropriate pronoun.

The dog is a faithful animal. loves its master very much.
(a)lt (b) He
(c) His (d) They
11. Which of the following is the incorrect singular-plural pair?
(a) Beach- Beaches (b) Hair-Hair
(c) Wolf- Wolves (d) Ox-Oxes
12. Choose the word that is similar in meaning to the word ‘scared’?
(a) Frightened (b) Surprised
(c) Irritated (d) Freezing
13. Which of the following words is correctly spelt?
(a) Seperat (b) Separate
(c) Saperete (d) Seperete
14. Complete the following dialogue.
Roohi Hii Abhishek, How are you?
Abhishek Hii Roohi, | am fine.
(a) Don’t talk to me. (b) Thank you
(c) How are you? (d) Bye
15. Fill in the missing letters to find a word that means ‘Dangerous’.
_A_M_UL
(a) H,R,F (b) LT, F
(c)H,T,F (d)R,T,F
16. Complete the word pair.
Read and
(a) speak (b) listen
(c) write (d) think
17. As sun is to hat, rain is to
(a) glasses (b) umbrella
(c) jacket (d) scarf
18. Fill in the blank with the correct adjective.
They built an hotel last year.
(a) intelligent (b) old
(c) amazing (d) big
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Directions (19 and 20) Look at the given picture and answer the questions that follow.

19. The dog jumped the fence.
(a) on (b) over
(c) up (d)in
20. The young one of a dog is called
(a) litter (b) puppy
(c) cub (d) kid
21. Read the passage given below and answer the question.

Last weekend, | went on a trip with some friends. We drove to the top of a big mountain to go

camping. We set the yellow tents on the ground set our sleeping bags.
How many pronouns are there in the passage.

(@) 5 (b) 4 (c)3 (d)6

22,

Choose the correct action word for the given picture.

(a) Hanging (b) Jumping
(c) Dancing (d) Welcoming

23.

Which of the following words is an adjective?

24,

(a) Nearly (b) Honest

(c) Hardly (d) Gladly

Fill in the blanks with correct tense form of verb.

These books to Mini.

(a) belong (b) is belonging
(c) will belong (d) belongs
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25. Which of the following set of words do not rhyme?

(a) Hare Bare Share
(b) Male Tale Bale
(c) Mop Cop Shop
(d) Beach Rich Each

26. Look at the image and fill in the blank with suitable preposition.

There is bread and butter the table for breakfast.
(a) on (b) in
(c) at (d) over

27. Fill in the blank with the right word.
One circus, many
(a) circus (b) circuses
(c) circuss (d) circuit

28. Choose the word which means the same as the word ‘Upright’?
(a) Honest (b) Dishonest
(c) Proud (d) All of these
Directions (29-31) Read the following passage and answer the questions that follow.

An old man lived in the village. The whole village was tired of him as he was always angry. He constantly
complained and was always in a bad mood.

As time passed, he became angrier and his words became more hurtful. People avoided him. It was even
unnatural and insulting to be happy next to him. He created the feeling of unhappiness in others.

But one day, when he turned eighty years old, an incredible thing happened. Instantly, everyone started
hearing the rumours, “The old man is happy today, he doesn’t complain about anything, smiles, and even
his face is freshened up.” The whole village gathered together. The old man was asked:

“What happened to you?”

“Nothing special. Eighty years I've been chasing happiness, and it was useless. Then | decided to live
without happiness and just enjoy life. That’'s why I'm happy now.”

29. The old man was always

(a) sad (b) angry
(c) happy (d) scared

Bloom Biology Olympiad Class 1



30.

Why did the people avoid the old man?

(a) Because he would say hurtful words

(b) Because he was ill

(c) Because he created the feeling of unhappiness in others
(d) Because he shouted at people

31. What was the rumour?
(a) The old man was happy.
(b) The old man had died.
(c) The old man had turned 80 years old.
(d) The old man wanted company.
32. The word ‘unhappiness’ is a/an
(a) adjective
(b) abstract noun
(c) proper noun
(d) common noun
33. Match the following Masculine nouns with Feminine nouns.
List | List 1l
(Masculine noun) (Feminine noun)
A. Tiger 1. Tigress
B. Uncle 2. Hen
C. Brother 3. Aunt
D. Rooster 4. Sister
Codes
A B CD A B CD
@4 2 3 1 b)3 1 4 2
(c)2 4 1 3 (d1 3 4 2
34. Choose the statement that is true.
(a) Chess is an abstract noun.
(b) We use pronoun ‘they’ for ‘Rahul’.
(c) Article ‘the’ is used with unique things.
(d) The word ‘army’ does not have a plural form.
35. Choose the correct sentence.

(a) My father works late at the evening.
(b) I bought the bicycle | wanted.

(c) We go for a picnic next month.

(d) Sahil brushes his tooth every day.
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Tie-Breaking Section

Instructions

1. This section consists of 3 questions.
2. The score achieved in this section will not be included in the total marks.
3. If overall marks of two or more students are same, winner will be decided based on the score in this section.
4. Participation in this section is optional, and students may choose to attempt it.
1. Match the following animals and their homes.
List I (Animal) List Il (Home)
A. Hen 1. Den
B. Bear 2. Pen
C. Crow 3. Coop
D. Pig 4. Nest
Codes
A B CD
@4 2 3 1
(b)3 1 4 2
()2 4 1 3
(d)1 3 4 2

2. Choose the sentence which does not use the pronouns correctly.

(a) Red Fort is in Delhi. It is made of red stones.

(b) Mother and | went to market. They bought fruits.

(c) This bag is heavy. Put it aside.

(d) Aunt Mala is coming today. We are going to meet her.

3. Choose the sentence with the correct preposition.

(a) She will leave with midnight.

(b) I was born on January.

(c) The rabbit rested under the tree.
(d) Sima wakes up in 6:00 AM.
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